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PART A: TRUE/FALSE

1. (1 point)
Islamic contracts involved in equity-based contract sharing is usually classified
under Mudarabah and Murabahabh.

2. (1 point)
The main types of shares are also known as ordinary shares and preferred shares.

3. (1 point)
Preferred stocks dividend payments are not a mandatory obligation of the issuer.

4. (1 point)
Speculative Stocks are issued by firms which core business contains significant
technological component.

5. (1 point)
Preferred stockholder has middle position on claim to income and assets between
common stock holders and debt holders.

6. (1 point)
Each share of common stock represents a fractional ownership interest in the firm.

7. (1 point)
Dividends for common stockholder are not fixed and it is a compulsory for the
company to pay dividends.

8. (1 point)
The relationship of interest rates and bond prices move in an opposite direction.

9. (1 point)
The concept of unit trust investment is the professional management company pooled
investors' money before invest in selected investment portfolio.
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(1 point)
There are differences between a conventional unit trust fund and a Shariah-compliant
unit trust.

(1 point)
The disadvantage of investing in unit trust is the investor need to pay high annual
expenses.

(1 point)
Close end fund has limit for capital and unit trust that can be traded by investor.

(1 point)
Compound interest is when the interest earned on an investment is added to the
initial amount.

(1 point)
The time value of money today is worth more than in the past.

(1 point)
Present value is the value in today’s amount is discounted back to present at the
required rate of return.

(1 point)
Interest rate is a series of equal payments made for a specified period.

(1 point)
Ordinary annuity is an annuity which the payment occurs at the end of each period.

(1 point)
Annuity which the payment occurs at the middle of each period is called as annuity
due.

(1 point)
Normally, the amount of annuity due is higher than ordinary annuity due.

(1 point)
Non-annually compounding interest is interest rate which is compounded more than
once a year.
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PART B: MULTIPLE CHOICE

1. (1 point)

What is a private investment made into young startup companies in exchange for equity
called?

public equity
private equity
cost of capital
venture capital

00w

2. (1 point)
What are the disadvantages of venture capital?

i. expensive

ii. loss of control

iii. necessary capital

iv. diminished ownership

A. 1and ii

B. i,ii and iii

C. ijiandiv

D. i,ii,iii and iv
3. (1 point)

What is the disadvantage of gold?

A. inflation hedge
B. huge capital
C. high liquidity
D. easy to transact

4. (1 point)
Commodity markets can include physical trading and derivatives trading using the following
methods EXCEPT
A. shares
B. futures
C. options
D. spot prices
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5. (1 point)
What is a physical good attributable to a natural resource that is tradable and supplied
called?

private equity
real estate
unit trust
commodity

OO0 W

6. (1 point)
Which of the following are types of commodities?
i. gold
ii. copper
iii. crude oil
iv. unit trust

A. iandii

B. i, ii andiii

C. iijiiiandiv
D. i,ii,iii and iv

7. (1 point)
Which of the followings are disadvantages of commaodity investment?

i.  volatile inflation

ii. excessive volatility

ii. facilitates diversification

iv. more exposed to economic and geopolitical factors

A. 1and ii
B. iandiii
C. iiandiii
D. iiandiv

8. (1 point)
Which of the following are conventional investments?

i. cash

ii. stocks

iii. bonds

iv. real estate
A. 1and ii
B. ii and iii
C. ijii and iii
D
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9. (1 point)

Which of the following where annuities are applied?

i. financial planning
ii. bullet payment
iii. housing loan

iv. personal loan

A. iandiii
B. iandiv
C. iiandiii
D. iiiand iv
10. (1 point)

Which are NOT the methods to calculate the value of money.

i. tax calculator

ii. mathematical method
iii. equation generator

iv. financial calculator apps

A. iandii
B. iandiii
C. iiandiii
D. iiiand iv
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PART C: STRUCTURED

1. (10 points)

a. Terbilang Corporation has just paid a dividend of RM0.25 per share. The company
current stock price is RM3.00. If dividend is expected to grow at 8% constant rate
and the required rate of return is 18%, find the intrinsic value of the company’s
common shares.

(4 points)

b. Ahmad owns a bond that pays RM100 in interest annually, has a par value of
RM1000 and matures in 15 years.

i. Value of the bond if Ahmad’s required rate of return is 12%

ii. Value of the bond if Ahmad’s required rate of return is 16%

(6 points)

2. (10 points)
Real estate is the most accessible alternative investment. Real estate investing means
purchasing actual property or buying funds that invest in real estate. Ikhwan want to buy
a property in Gamuda Cove theme park and residential. Before he wants to invest, he
should know advantages and disadvantages investing in real estate. Briefly explain FIVE
(5) disadvantages investing in real estate.

(10 points)

3. (10 points)

a. Amir plan to buy a new tab in 3 years, and it costs RM3000. Amir decides to save
money in a savings account with an annual interest rate of 4%. How much should Amir
save today to have enough money for the tab in 3 years?

(3 points)

b. Arif have RM500 today and he plans to save it in a fixed deposit account that offers an
annual interest rate of 3%. How much would Arif have at the end of 8 years?

(3 points)

c. Faizis considering receiving RM600 at the end of each year for the next 4 years. If the
discount rate is 8%, calculate the present value of this annuity due.

(4 points)

END OF QUESTION PAPER
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FORMULA LISTS

cy = cpP
~ MP
(CRXPar Value) " (Par Value — MP)
_ m nxm
YT™ = Par Value + MP
2
(CRXPar Value) 4 (Call Price — MP)
_ m nxm
YTC = Call Price + MP
2

Value of asset — liabilities
Net Asset Value =

Number of outstanding unit trust
FV = PV (FVIF;;)
PV = FV (PVIF;,)
FVA = PMT (FVIFA;y)
PVA = PMT (PVIFA;,)
FVAD = PMT (FVIFA;,)(1+1)

PVAD = PMT (PVIFA;,)(1+ i)
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